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T.oLet flx) = 5x° — 3and g(x) = —x? + 4x + 1. Find the following,
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Find the domain of each function defined as follows.
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Solve each equation.
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41. log, 32 = 5
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Evaluate each expression without using a calculator. Then support your Work Iomg & e, W,Wm“‘”’"

calculator and the change-of-base theorem for logariy
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fnterest Find the amount of interest earned by each d,

70. 86902 at 6% compounded semiannuaily for § yea ?4[ i ; (%’ \/ -
™, ‘ _ [ A
71. $2781.36 at 4.8% compounded quarterly for 6 years T ““““"““’“‘“““““f_'.w.w ! gz ;
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72. How long will it take for $1000 deposited at 6% com
pounded semiannually to double? To triple? {} ;}
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73. How Jong will it take for $2100 deposited at 4% {eOR s
pounded quarterly to double? To triple? | /] PRV ;2 7 /}’ gm J

Fmieresi Find the compound amonnt if $12,104 is invesred af
6.2% compounded continuously for each period,
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98. Intensity of Light The intensity of light (in appropriate
units; passing through water decreases exponentially with
the depth it penetrates heneath the surface according o the
fanction

1(x) = 10e70%,

where x is the depth in meters. A certain water plant
requires light of an intensity of 1 unit. What is the greatest
depth of water in which it will grow?
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91. #ever Acertain viral infection causes a fever that typically
lasts & days. A model of the fever (in °F) on day x,
1= x=6,is

. 14
Fix)= ——%x“ + Tt 96,

According to the model, on what day should the maximum
fever oceur? What is the maximum fever?
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